
算数オンライン塾 10 月６日の問題 解説 
 

（１） 

Ａ÷４＝１からＡ＝４ ４×４－１＝１５がＢ 

（答え）Ａ ４ Ｂ １５ 

（２）４×Ｃ＝Ｄ Ｄ×４＝Ｃ＋１ Ｄ×４＝１６×Ｃだから 

１６×Ｃ＝Ｃ＋１ １５×Ｃ＝１なのでＣ＝
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（３）Ｅ×４＝１＋２＋３＋Ｆ→Ｅ×４＝６＋Ｆ→Ｅ＝1.5＋
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Ｆ×４＝Ｅ＋４＋５＋６→ Ｆ×４＝Ｅ＋１５ 

から 

Ｆ×４＝1.5＋
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＝4.4 Ｅ＝2.6 

（答え）Ｅ 2.6 Ｆ 4.4 

（４）４×Ｇ＝１＋Ｈ 

   ４×Ｈ＝Ｇ＋Ｉ＋Ｊ 

   ４＝Ｇ＋Ｉ 

   ４×Ｉ＝１＋Ｈ 

からＩ＝Ｇ＝2 Ｈ＝7 7×4－2－2＝24 がＪ 

（答え）Ｇ ２ Ｈ 7 Ｉ ２ Ｊ 24 

（５）４×Ｋ＝12＋Ｌ＋Ｍ･･･① 

   ４×Ｍ＝６＋Ｋ＋Ｎ･･･② 

   ４×Ｌ＝10＋Ｋ＋Ｎ･･･③ 

   ４×Ｎ＝４＋Ｌ＋Ｍ･･･④ 

②と③の差からＬ＝Ｍ＋1･･･⑤  ①と④の差からＫ＝Ｎ＋2･･･⑥ 

⑤を④に入れると 4×Ｎ＝4＋Ｍ＋１＋Ｍ＝2×Ｍ＋5 からＮ＝
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⑥を②に入れると 4×Ｍ＝6＋Ｎ＋2＋Ｎ＝2×Ｎ＋8･･･⑧ 

⑦を⑧に入れて、4×Ｍ＝Ｍ＋2.5＋８＝Ｍ＋10.5 3×Ｍ＝10.5 Ｍ＝3.5 

Ｎ＝3 Ｌ＝4.5 Ｋ＝５ 

（答え）Ｋ＝5 Ｌ＝4.5 Ｍ＝3.5 Ｎ＝3 

 

 


